20148¥

ROUND: 3 TABLE: 1 DATE: 12-27-2014
1raEsh VS 2ERHT
H = H =
E2=7PA BAHT BAHT E2NE3Ipa)
1t - BRI Rt 1t : XUBZ IR IKHRHE
B EH5 i IR [ B i 7 : BF=E
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 o E |6CX| -1 100 N 4H -1 -50 4
2 it | E |2C | +1 | -110| N | 25 | = | 110 6
3 PN E 5H = -650 S |2CX| = 180 13
4 pE=] W [3NT| -1 100 W [3NT| +1 | -630 12
5 it | E |3NT| = | -400| E |3NT| +1 | -430
6 it S 4C | +1 150 N 4D -1 -50 5
7 WE | E |3D| = |-110| N | 3Ss | = | 140
8 WL | S |4S| -1 | -50 S | 3s | = | 140 5
DATUM&it g
E2RE3RIPA) BB L A  [22.00/30.00
PREER/ES. 0.0 XUBZ/ Eip 9.0 &it [22.00{30.00
SKESEE/BRE -9.0| #ER/Z L 0.0 V.P. 6.88 |13.12




20148¥

ROUND: 3 TABLE: 2 DATE: 12-27-2014
3dalljches VS AE TR
H = H =
FLFE e TR E TR FLFE
1t - 1REER R iR 1t : iRfERE R . R
M ERS 7 HEE m : K& 78 : IEM
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 | WL | E |5CX| 2 | 300 | E | 5C| = | -400| 12
2 it | E | 2C | = -90 E | 2C | +1 | -110 1
3 | KA | S |6CX| -4 | -800 | W |4HX| = | -790
4 WHE | W |3NT| +1 | 630 | E | 4C | +1 | -150 10
5 Bdt | E |3NT| = | -400| W |3NT| = | -400
6 | KM | S |3 | +2| 150 | N | 3D | +2 | 150
7 W& | E |[3NT| = |-600| N | 25| = | 110 12
8 Wxk| S |3S| = | 1490| S |4S| -1 | -50 5
DATUM&iit e
PLFE e L #1 [18.00(22.00
BEANESRE  -17 | BEBE/REE -13|  &it |18.00(22.00
BHR/SEM 13.0] =ES/MEE 1701  V.P. 8.33 |11.67




201448548

ROUND: 3 TABLE: 3 DATE: 12-27-2014
SIMeTts VS 6HEY YOO
7 = A =
T INELHR HEY YOO HEY YOO T INELHR
it : FRER R AT 1t : M = 4s
2N 7a: =N m : PR 7a . SR
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 WHEZ| N |4H| = | 420 | W |5DX| = | -550 | 14
2 gt | E |2H| = |-110] E | 2C | -1 50 4
3 | ZxAE | s |5CX| -3 |-500| E |4H | +1 | 650 | 4
4 WHE | W |3NT 100 | W |3NT| = | -600 | 12
5 Bgdt | E |3NT| +1 | -430 | E |3NT| +1 | -430
6 | &M@\ | E |4S| 2 | 200 | S |3NT| -1 | -50 6
7 WH | E BNTXY = | -750| E |[2NT| +1 | -150 12
8 | Wk | S |3NT| = | 400 | S | 3S| +1 | 170 6
DATUM&tit e
T ETHR HEY YOO A  [42.00/16.00
PRECEV/XIFR  12.0] MEB/AREAR  -26 &it [42.00/16.00
BEXHE/SEIL 26.0] &EIIL/EXE -12| VP 17.69| 2.31




201488
ROUND: 3 TABLE: 4 DATE: 12-27-2014
T"HRERFR VS 8EEK7<PA
H = Al =
I"R&ER EEA7A EA7A IR&ER
1t : BB . EH 1t : FaElr IR BRKEK
2R 79 RS M RS 7 : 1741
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 | WE| N | 34| = | 140| w | 5D | = | -400| 11
2 gdt | N [3NT| -2 | -200| E | 2C | +2 | -130 1
3 | FA| N |4C| 2 |-100| E |4H | +1 | -650 | 11
4 |WH| E |2c| +2|-130| W [3NT| +1 | -630 | 11
5 | &t | E [4NT| -6 | 300 | W |3NT| +2 | -460 | 13
6 | &K\ | s |4c| +1 | 150 | S |4C | = | 130 1
7 W& | E |4DX| -1 | 200 | E [3NT| = | -600| 13
8 Wk | S | 25| +1 | 140| S | 25 | +1 | 140
DATUM# it iR
I RER =7 AN v -] 61.00| 0.00
BRis/1E R 36.0| ERI/iIFES -34 ait 61.00| 0.00
BRRK/78] 340 EHAFRE  -36 V.P 20.00| 0.00
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ROUND: 3 TABLE: 5 DATE: 12-27-2014
oI FEEG VS 10¥ki8IENX
F = A =
JREERH IR IR JAREERH
b : FRHK R ESHEF it . EBE 7R : XUBf
I SSES 7 £ g ABES [iiidv::y)2
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 | WX | W [5DX| -1 | 100 | N | 2H | +2 | 170 2
2 gt | E |2Cc| +1|-120| E | 2H | = | -110
3 | &M@ | s |7cx| -5 |-1100| S |5CX| -3 | -500 12
4 W&HE | W |3NT| = | -600 | W |3NT| +2 | -660 2
5 it | E |3NT| = | -400| E |[3NT| = | -400
6 | &\ | S |5C| = |400| N |3D]| = | 110 ]| 7
7 W& | W |3DX| = | -670 | W |3DX| = | -670
8 W&k | S |4S| = | 420 S | 4S| -1 | 50 10
DATUM&iit e
I IREER IRSIEY #1 [19.00{14.00
FMRNER -13 | EBEE/ABRIT  -20|  &it [19.00(14.00
XUBfr/oTée .  20.0) ESHF/ESEF 130 V.P.  [12.05 7.95




201448548

ROUND: 3 TABLE: 6 DATE: 12-27-2014
11 21§87 VS 128XHFA
F = A =
SlEE T EXARA EXAR SI&BE
it : KEt R BI%EE 1t - XUanE 7R : RRPHIE
mE Bk 7h: BR B BE% 7Y : {47
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 | WE| N |1HX| +3 | 460 | E | 5C | = | -400 | 13
2 | @Bt | N |2NT| +1 | 150 | E | 2D | +1 | -110| 6
3 | KA | E BNTX 2 | 500 | W |4H | = | -620| 15
4 |WB| E |3 | = |-110| w |[3NT| -1 | 100 5
5 Bdt | E |3NT| +1 | -430 | E |3NT| +2 | -460
6 | R | E |4SX| -1 | 200 | E | 25| +1 |-140]| 8
7 W& | E 2NTX -6 |1700| E |3NT| -3 | 300 | 16
8 Wk | S | 4S| -1 | -50 S | 2H | +1 | 140 5
DATUM&iit e
g7 B XHBA Z, 5 =] 59.00|10.00
SKE/EHR  48.0) XlWE/EzESE -40| &it  |59.00/10.00
RRPEIE/{PI422k 4.0 | BIEE/ABR -48| VP 20.00| 0.00
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ROUND: 3 TABLE: 7 DATE: 12-27-2014
13RIELT2H VS 14T —3cFH 22
F = H =
RETZ I H—3RI R I M—3RI R RUEL B
it : R b : R
2 [ris 2 7
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1| Wk
2 Eple
3 IRPY
4 | WA
5 | Fdb
6 | &
7 | wE
8 | Wk
DATUM%#it I E
REI2 I~M—3RIR Z: 5 ] 0.00 | 0.00
/ 0.0 / 0.0 ait 0.00 | 0.00
/ 0.0 / 0.0 V.P. |10.00/10.00




201448548

ROUND: 3 TABLE: 8 DATE: 12-27-2014
15ERFKAF D VS 16EAPYRA
F = A =
BRI =g NN =y NN BRI
it : 28 7R R b : #XiKsE R REYF
M BT 78 : [RE2HA ;KXW 75 : R
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
1 | WE| N |[4H| 1| 50 | W |BDX| = | -550| 11
2 it | N | 28| = | 110 | S | 2S | -2 | -200 7
3 | H/E | s |5CX| -2 | -300| N |2SX| -2 | -300
4 W&e | E |4S| -1 | 100 | W |3NT| +2 | -660 | 13
5 Bdt | E |3NT| = | -400| E [3NTX +2 |-1200| 13
6 | R\ | S |5CX| +1 | 650 | S | 5C| = | 400 ]| 6
7 WHE | S |2H| +1 | 140 | E |[3NT| -3 | 300 4
8 WHx | S |[3NT| = | 400 | S | 4S | = | 420
DATUM&it e
BRAI ZPNULUN #1 [50.00| 5.00
SKEAERIT 42.0) BXUKE/AKX  -9.01  &it  |50.00| 5.00
BEESNE/BUM 9.0 | BUR(N/BEERR  -42 V.P. 20.00| 0.00




